5. Definite Integral

o The definite integral [af (x)dx can be expressed as the sum of limits as

h=b2 g

fafydx=(b-allimlif(@) + fla+h)+ + fla+ (r-DB)] o oh=22—0

¢ First fundamental theorem of integral calculus: Let f'be a continuous function on the closed interval [a, b]
and let 4 (x) be the area function. Then, 4'(x) = f(x) Vx&€[a, 5]

¢ Second fundamental theorem of integral calculus: Let f'be a continuous function on the closed interval [a,
b] and let F be an anti-derivative of /. Then,

[of(x)dx = [F()2=F () - F(a)
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Example 2: Find: 2 ¥l1=x

Solution:
J—L—dx =sin y=F {x)

yl—x 2

By second fundamental theorem, we have
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e Definite integral: A definite integral is denoted by [af (x)d ¥, where a is the lower limit and b is the upper
limit of the integral. If [7{x)dx=F(x) +C, then

J57(x)dx=F(b) = F(a)

e The definite integral Jaf (x)dx represents the area function A(x) since [af (x)dx is the area bounded by
the curve y = f(x), x € [a, b], the x-axis, and the ordinates x =a and x = b

e The steps for evaluating Jaf (x)dx by substitution method can be listed as:

e Step I: Considering the integral without limits, substitute y = f(x) or x = g(y) to reduce the given integral to
a known form and the limits of integral are accordingly changed.
Step 2: Integrate the new integrand with respect to the new variable, and then find the difference of the
values at the obtained upper and lower limits.
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Example:

’ 3
Evaluate: j---—-.;fr’.r
1 TA

Solution:
Put 1+ x3 =t
Then, 3x2dx = dt

Whenx=1,1r=2

x=2,t=9

.' ]411 dr = f——[lnu] =log9- lm"’—!mg2

Evaluation of Definite Integrals through Integration by Parts

i

b R . b pbrdu
[[uwvdz = [u [vdz] [ _—Ijld.r]dn:
Evaluation of Definite Integrals by Partial Fraction
In this method, we first simplify the rational function into two or more rational functions, which can be
integrated more easily. We then integrate the expression using partial fraction as we do in case of indefinite

integrals and put the limits to evaluate the definite integral.

e Some useful properties of definite integrals are as follows:
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0,if F(2a—x)= — F()
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a 2[ £(x)dx, if f1isaneven functionie if F( —x) = F(x)
| Fixddx={ 0
o “ 0,1f f 15 an edd functionte if f(—x) = — f(x)
5
1z oo
I : I1.fﬁii:l. X arr
Example 3: Evaluate: 12 © " %% "

Solution:

5
e qinﬁx
;!—_ i . dx
X gin x—cosx

Let/= 1z .. ()

b b
[fixidx=[fla+b—x)dx
Using the property of definite integrals, ﬂf( ) ﬂfl: )

I = I;T’ -‘sin':'z dr

sin' r—cosd

I= J’_T _cos®z g

= oost z_sin' z

Adding-thf. above 2 equations we get,
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